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Cuadro 16 (continuación 5)/Table 16 (continued 5)
Panamá: tablas abreviadas de mortalidada

Panama: abridged life tables 
a

2000

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.025 0.025  100 000  2 493  97 967 0.973 b 7 253 136 72.5
1 4 0.002 0.007  97 507   655  388 312 0.995 c 7 155 169 73.4
5 5 0.001 0.003  96 851   248  483 637 0.997 6 766 857 69.9

10 5 0.001 0.003  96 603   254  482 383 0.996 6 283 220 65.0
15 5 0.001 0.006  96 350   602  480 243 0.991 5 800 837 60.2
20 5 0.002 0.011  95 747  1 058  476 091 0.988 5 320 594 55.6
25 5 0.003 0.014  94 689  1 280  470 244 0.986 4 844 504 51.2
30 5 0.003 0.014  93 409  1 305  463 781 0.986 4 374 260 46.8
35 5 0.003 0.014  92 104  1 329  457 197 0.985 3 910 479 42.5
40 5 0.003 0.017  90 775  1 501  450 122 0.981 3 453 282 38.0
45 5 0.004 0.021  89 274  1 916  441 580 0.974 3 003 160 33.6
50 5 0.006 0.030  87 358  2 651  430 163 0.963 2 561 580 29.3
55 5 0.009 0.045  84 707  3 795  414 048 0.944 2 131 417 25.2
60 5 0.014 0.067  80 912  5 436  390 969 0.917 1 717 369 21.2
65 5 0.021 0.101  75 476  7 616  358 338 0.876 1 326 399 17.6
70 5 0.032 0.150  67 860  10 202  313 792 0.817  968 061 14.3
75 5 0.049 0.221  57 657  12 718  256 492 0.738  654 269 11.3
80 5 0.075 0.316  44 940  14 197  189 205 0.635  397 778 8.9
85 5 0.112 0.437  30 742  13 441  120 109 0.512  208 573 6.8
90 5 0.167 0.578  17 301  9 995  61 517 0.380  88 464 5.1
95 5 0.243 0.721  7 306  5 265  23 365 0.133 d  26 948 3.7

100 ω 0.569 1.000  2 040  2 040  3 583  3 583 1.8
Mujeres/Females

0 1 0.018 0.018  100 000  1 804  98 530 0.979 b 7 771 371 77.7
1 4 0.002 0.006  98 196   620  391 122 0.995 c 7 672 841 78.1
5 5 0.000 0.002  97 576   192  487 399 0.998 7 281 719 74.6

10 5 0.000 0.002  97 384   169  486 495 0.998 6 794 320 69.8
15 5 0.000 0.002  97 214   241  485 469 0.997 6 307 825 64.9
20 5 0.001 0.003  96 973   334  484 031 0.996 5 822 356 60.0
25 5 0.001 0.004  96 639   433  482 115 0.995 5 338 325 55.2
30 5 0.001 0.006  96 206   543  479 676 0.994 4 856 210 50.5
35 5 0.001 0.007  95 664   684  476 609 0.992 4 376 534 45.7
40 5 0.002 0.009  94 980   892  472 669 0.989 3 899 925 41.1
45 5 0.003 0.013  94 088  1 222  467 385 0.984 3 427 257 36.4
50 5 0.004 0.019  92 866  1 757  459 939 0.976 2 959 871 31.9
55 5 0.006 0.029  91 109  2 627  448 979 0.963 2 499 933 27.4
60 5 0.009 0.045  88 482  4 002  432 405 0.942 2 050 954 23.2
65 5 0.015 0.072  84 480  6 093  407 167 0.907 1 618 549 19.2
70 5 0.024 0.115  78 387  9 039  369 338 0.853 1 211 381 15.5
75 5 0.040 0.183  69 348  12 662  315 085 0.773  842 043 12.1
80 5 0.065 0.282  56 686  15 999  243 432 0.661  526 958 9.3
85 5 0.106 0.419  40 687  17 030  160 858 0.526  283 527 7.0
90 5 0.164 0.570  23 657  13 488  84 563 0.387  122 668 5.2
95 5 0.238 0.713  10 169  7 252  32 713 0.141 d  38 105 3.7

100 ω 0.541 1.000  2 917  2 917  5 392  5 392 1.8

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


